sk 102 =5

R 26

sz FH X 15 HA v i =5 [ S 1) 2 AT A E 7 5



PR 264 K B H X R M S R R B XA IE TR

264 BB AR AR EE BRFIKFMETREIL, RICEDDHEIHITL B,

(FARHBFPEHE)
£1% BRARHBTEORFIC. BARLZNLZNL 100+m%BINL. BRARYEFEOBEEZ £N2N5,081,918+mE § 5,
2 RABRMTFHEOBEOREORFRUIEUHRS T L OSBFECICHEROBRARBFEOSEL, 1R RAR
MPERME] 12X 5,

FHi264E12 H HH

emxe [ 51

61



62

1R BARHETEML

o A (86 F9)
s H WIEMOE E # At

3 % A & 2,689, 423 1,100 2,690, 523

- & = F #£ A £ 2,689, 423 1,100 2,690, 523

& B 5, 080, 818 1,100 5,081,918

o (B FM)
% i WIER D% T At

1 # b3 155, 099 1,100 156, 199

5 % H H b= 155, 099 1,100 156, 199

& Ei 5,080, 818 1,100 5,081,918




